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Exercise No1 Book Pages 145-149 E

Question (1) Give the Arabic for five only oi the following:

Englih

Decision making

_— N
N
B> < S80S <o,
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S

N
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alternative

> <

S

performance

> < O

effectiveness

(B) Give the English for five only oi the following:

N
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Question (2) Choose the right answer: o
1- There are many approaches to decision making depending on: &
a) Nature of the problem b) time available Z
c) costs of individual strategies d) mental skills e) all of the above .X
2- Every decision in the outcome of a dynamic process influenced -';'
by forces such as: o

a) the organizational environment |
b) the manager's knowledge  c) the manager's ability "f
d) the manager's motivation ~ €) all the above  f) none of them g
3- Managers are evaluated and rewarded on the basis of: o
a) the importance  b) number c) results of their decisions Z
d)a&b c)a&b&ec [
4- In every situation, the objective in making a decision is: /=~ o
a) to select the alternative that produce the most favoralgte- < o
outcomes. W H
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b) To avoid the least favorable outcomes

c) to produce the least favorable outcomes

d) all the above c)No.a&b
Question (3) A- Mark True () or False (X):

> <

(12N
£

> <

(12N
%’

> <

(12N
%’

(12N
%’! > <

> <

2

2N
S

3- The quality of manager's decisions is the yardstick of their
effectiveness and of their value to the organization.

[
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%’

4-To be an effective manager it is indicated that, decision-making
ability is least describable skill a manager can possess.

),
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e
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B-: write short notes on:
1- Define a decision-making, is it a fixed procedure?
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2- What are the main conditions to be taken in account when
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evaluating alternatives?
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1- Decision-making is the process of thought that results in a decision.
2- All decisions have some influence large or small on performance.
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Exercise No 2 Book Pages 145-149
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Question (1) (A) Give the English for five only oi the following:

motivate & lead

2N
S

B> < ¢

(12N
%’
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.g’ > <
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),

Certainty

2N
S

> <

innovate

pessimistic decision maker
(B) Give the Arabic for five only oi the following:

2N
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T2 (
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i) pae .“'i

Jalaial) i AN Adtis z

é.ia

1-Steps following a decision 3-elcsi;[ihoenprocess of thought that results in a é.“'?
2-Decision making 2-Implementation, control and evaluation ‘-?f‘
1- 2-
Question (3) Choose the right answer: Z
1- Steps following the decision should include: "f
a) implementation b) control & evaluation c) both of them .‘;'
2- In selecting an alternative the alternative- outcomes -‘%
relationship is based on: o

a) certainty  b) risk c) uncertainty d)all ofthem  e) none Z
3- The contingency approach suggests that, a manager must learn "f
many ways to: N\ &

a) compete b) innovate C) create d) moti'vateg&,-lea_d o
e) all the previously mentioned AR |
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Question (4) A - Mark True (~) or False (X):

v v
A . . . - - A
& 1- There is no relationship between the number of alternatives considered &

) and the speed with which decisions can be reached. )

2- Certainty means that the decision maker has no knowledge of the
probability of the outcome of each alternative.
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2 B-: write short notes on: B
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The contingency approach suggests that, a manager must learn many ways to:
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Question (1) (4) Give the Arabic ior of the following:

opportunity
knowledge
judgment

non programmed

(A)Give the English for of the following:

English
JsLia
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Question 2: Choose the Correct answer:

e
£

1- Problems are usually of three types:
a) opportunity b) crisis C) routine da&bé&c
2- Problems that occur infrequently should be concern of:

> <

e
£

> <

e
£

> <

e
&

3- Group decision making greatly better than individual one for:
a) greater amount of knowledge available
b) collective judgment of the group ¢) individual judgment
d) all of them e)Noa&bonly
Question2 B: State which true () or false (X) and why it false.
1- Programmed decisions are made when managers have faced problems
that infrequently occurred.

2- Problems that occur frequently should be concern of top management.
3- Non programmed a decisions are made higher levels of management.
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Exercise No 3 Book Pages Types Problems

a) top management b) lower management c) middle management
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Questions 3 A: make sentences irom "A" and "B":

> <
> <

(12N
£

> <
(12N
> < %”

1-Group decisions 1-Programed and non-programmed
2-Are better suited to making non-
programmed decision than individuals.
3-The optimistic decision 3-believe the worst possible outcome will
maker occur no matter what they do.

4-The pessimistic decision | 4- always chooses the alternative that
maker maximizes the maximum outcomes

1- 2- 3- a-
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2-Decisions are of two types
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{ B-: write short notes on: A
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Exercise No 4 Leadership Book Pages

Question (1) Give the English ior five only oi the iollowing:

attribute
desired objectives
followers
behavior

(B) Give the English ior five only oi the iollowing:

Engiish
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Question 2: choose the correct answer:
1- Leadership :
a) Is a people activity b) Is astatic in nature
c) does not need compliance to occur d) should not rely on power
e) can pertain to administrative paper shuffling.
2- A leader must be:
a— Wise b- good c- fair d- bold e- well-read
3- A leader is the person who communicates ideas to others and influences:
a- their freedom to make decisions
b- their behavior to achieve an objective
c- their time of performing the job
Question 3 A - Mark True () or False (X):
1- Leadership is the process of influencing the actions of a person or
group to attain desired objectives. Za\ £
2- Leadership is actual use of power to effect changes. &= -«
3- A leader is someone whom others want to disobey. =272 .
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4- |_eaders are those who are able to commend followers.
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B - Answer the following quest

P

i s izt /)

influences their behavior.

Question 3
1- Mention the three approaches to a definition of leadership:

5- A leader is the person who communicates ideas to others and
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Exercise No 5 Leadership Book Pages

Question (1) Give the Arabic for five only oi the following:

characteristics
referent power
Extrinsic rewards
Empirical method

(B) Give the English ior five only oi the iollowing:

Englsn
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Question 2: State which true (~) or alse (X) and why it ialse.

1- Employees in return for doing their jobs perfectly must motivated
by giving them intrinsic rewards and extrinsic rewards

2- Effective leadership depends as much on a followers accepting
direction as on the leader giving it.

3- Expert power depends on the leader's personal characteristics
rather than formal title or position.

4- Power and influence are not central to be manager's job.

5- When leader use legitimate power and reward power the most
likely outcome will be commitment.
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- »
g’? Question 3: A - choose the correct answer: 53;'
é;' 1-....ccoeiit...... Power comes from a formal management é;.

A .- , . . - . v
128 position in an organization and the authority granted to it. 128

a - Referent  b- Expert c- Coercive d- Reward
2- When workers obey orders they may disagree with and lack

(12N
%’! > <
> <

(12N
£

v v
A - ap g A
&  enthusiasm, they are exhibiting: =

> <
> <

a- commitment  b- compliance  c- resistance

M d- consideration  e- referent power N

3- A person-oriented leader in most effective in a situation where:

v v
A . A
& a-thetask is clear =

\{ . . . . . \{
B b- he supervises jobs that contain some ambiguity 1)
M c-everyone getsalong  d- the leader has power N

e- all that is needed is for someone to take charge

v v
B 4-Followers, in return for permitting themselves to be influenced &

v . . v
B by aleader, they want to receive certain 1]

a- Intrinsic rewards b- Extrinsic rewards
c- Both Intrinsic & Extrinsic rewards
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Exercise No 6 Leadership Book Pages

Question (1) Give the Arabic ior iive only oi the iollowing:

arbitrary selection
irrationally
Desirable traits
self-actualization

(B) Give the English for five only oi the following:

English
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Question 3: A - choose the correct answer:
1- Employees often decline promotions to supervisory and
managerial positions because:
a- they are enough motivated  b- they simply are not motivated
c- leadership position is against their will
2- Some leaders such as the team captain, church leader are not
paid for their positions that they willingly occupy, usually
exercise leadership because:
a- they can satisfy some of their esteem and self-actualization needs
b- they don't want employees to be motivated
c- they are motivated
3- A leader is selected through :
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B-Fill in the missing words from the list below:

3- ceev.eee........ means reducing the frequency of undesired

behaviors.

alter situation to suit the available leadership.
(Fiedler - punishment - leaders -

Write short note on: A- Extrinsic rewards

\ -
e 5 : s .. iy #
b '
p -
LEry =t M
e b0 S
cr
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. 1s the most important person of an organization.
. are those who are able to commend followers.

said "it is easier and much safer to mould and

the leader)

(12N
(ES

> <

(12N
£

> <

(12N
%’

> <

(12N
%’

> <

(12N
%’

> <

(12N
&)

> <

(12N
&)

(12N
%” > <

),

> <

(12N
%’

(12N
%” > <

),

> <

(12N
%’

> <

(12N
%’

> <

(12N
%’

(12N
%’! > <

(12N
%” > <

),

> <

(12N
%’

(12N
%” > <

),

> <

(12N
%’

(12N
%” > <

),

> <

(12N
%’

> <

(12N
%’

> <

(12N
&)

> <

(12N
%’

(12N
%” > <

),

<






bl ey Dy (G (G (G (G (G T (G (@R
Aldiadligyel SERCERIC IR ER G IR G IR ER IR IR MANAGEMENT

N A
2-Which of the following is an example of ""'noise"" which impedes "3"
% communication?  a- Lack of knowledge  b- Negative attitude &

> <
> <

c- Different backgrounds of sender and receiver

(% e
<53 <53

d- All of the above e-"A" and "B" only

> <
> <

(- e
85 85

3- Which of the following is not a communication channel

\{ \{
® a- Telephone b- Memo c- News letter o
\{ \{
B d- Letter e- Perceptual background 1]
F 4- The richest communication channel isa ........... v
w a-Telephone  b- Memo c- Face to face talk d- Letter ‘&
A - - - A
= S S Is a characteristic of non-routine message &,
Z a- simplicity b- prior agreement C- pertaining to statistics Z
M d- Dealing with a novel event e- straight forwardness N

v v
2 B 4: What is communication and discuss it's important? g

v v
A A
é.§;~ ........................................................................................................... é.§;~
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) v
: A
N - Mention five Channel of communication : v
) v
N 3-. v
) i v
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Exercise No 8 Communication Book Pages

Question (1) A- Give the English ior iive only oi the following:

English
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B- Give the Arabic for five only of the following:

Decoding

Downward communication

suggestion box

Noise

Question (2) choosing the right words:

1- (Encoding - Decoding) means, translating the symbols of message
Into a form that can be understand.

2- (Downward communication - Upward communication) flow from
individuals at higher levels to those at lower levels.

3- (Poor listening - Effective listening) is one of the barriers to
communication.

4- (Simplifying language - Complicating language) is one method of
Improving communication skill.
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Question (3) A- choose hetween true(~) and false (X)ior .

1- Interdepartmental problem solving communication is an example
of horizontal communication.

2- Management by wandering around works only on the lower levels
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B 3- Most information passed through a grapevine is inaccugate: 128
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Examination no1 Book Pages 248-251

Answer the following question:
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Question (1) A- Give the English for five only of the following:
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B- Give the Arabic for five only of the following:
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Question 3: Choose the right answer:

1- There are many approaches to decision making depending on:
a) Nature of the problem  b) time available c) mental
skills d) costs of individual strategies e) all of the above

2- A leader is the person who communicates ideas to others and
influences:

a- their freedom to make decisions Db- their behavior to achieve an
objective  c- their time of performing the job

3- Which of the following is an example of ""noise’" which impedes
communication? a- Lack of knowledge b- Negative attitude
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c- Different backgrounds of sender and receiver .« _ o
d- All of the above e-"A"and"B"only = /. — M
Question 4: Mark True (V) or False (X): ‘j:- \ 'f
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g Aadd) g2 0l &> <
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A A
";' 1- Decision making is the process of thought that results in a decision. ";'
2 2-The quality of manager's decisions is the yard stick of their 2
é,‘ effectiveness and of their value to the organization. é,‘
'f 3- An extrinsic reward is one received as a direct consequence of a 'f
W person's actions. o
®. 4- Leadership is the process of influencing the actions of a personor &
Z group to attain desired objectives. Z
.X 5- Listening requires attention, energy, and skill. .X
‘-f Question 4: Answer the following questions: ‘-f
'; 1- Must managers develop their skills? Why? ';
X S I e R X
.‘;' Question 4: Form complete sentences from A" and ""B"": .‘;‘
A A

e
£
R

e
£ > <
~;
><%’

1- Steps following the 1- Is the one of the barriers to
decision communication
2- "1t is easier and much safer to mould and
2- Decision are two types | alter situations to suit the available
leadership”
3- Is an inner state that helps describe the
wishes, desires and needs of individuals.
A- Fielder said 4- Programed and non-programmed
- Time pressures 5- Implementation, control and evaluation

Question 4: Answer the following questions:
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o 3- How do you know that leadership is important? o
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motivation
consequences
Legitimate power
desired objectives
performing the job
Leadership
Supervision
Rewarded power
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Vocabulary chapter 4

English
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Barriers to communication
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